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ﬁg TREFOBBOEILADKES TERZEOHBEEILIOKRES TREFOBBOEILADKES TREFDHBHILHOKRES
&S X 4 B | Fimh o0 iRE ADKES R 4 TimMNLDKE| B ADKES X % B | LImhootE ADKES & 4 HiEhoolks | B ADKES
(m) (m) (kN/m) EEBfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
] 100kN/mM%E#BZ % -l -~ = -|3m&EBAB| - ~ = = —| 100kN/mM%H{EZ 5 = -~ = ~-|3m%EBZ 5 = ~ = = =
Lot 1.00]0.00 ~ 7.78 99.98| #n L4t | 000 ~ 7.78] 2.13 11.39 2% 1.00] 5.00 ~ 10.60 99.98| =n 4t | 500 ~ 10.60| 2.13 11.39
2 100kN/mM%E#BZ % -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#B% % = -~ = -|3m%EEZS ol ~ = = =
Lot 1.00]0.00 ~ 6.16 77.30] #h L4t | 000 ~ 6.16] 1.75 9.35 2% 1.00] 500 ~ 7.10 77.30| #huist | 500 ~  7.10f 1.75 9.35
3 100kN/mM%E#BZ 5 -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#BZ 5 = -~ = -|3m%EEZS ol ~ = = =
Lot 1.0010.00 ~ 7.18 91.24| #h 4t | 000 ~ 0.00| 1.70 9.08 2% 1.00] 500 ~ 9.20 91.24| =h st | 500 ~ 9.20| 1.70 9.08
] 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EEZS ol ~ = = =
Lot 1.0010.00 ~ 6.41 80.71| #=nList 000 ~ 0.00| 1.60 8.57 2% 1.00] 500 ~ 8.10 80.71| =14t | 500 ~ 8.10| 1.60 8.57
5 100kN/mM%E#BZ % -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBEZS ol ~ = = =
Lot 1.0010.00 ~ 6.64 83.86] =nList 000 ~ 664 1.78 9.50 2% 1.00] 500 ~ 8.00 83.86| =14t | 500 ~ 800| 1.78 9.50
6 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Lot 1.0010.00 ~ 6.33 79.56| #hLlst | 000 ~ 633 1.74 9.31 2% 1.00] 500 ~ 740 79.56| T4t | 500 ~ 740 1.74 9.31
; 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Zh s -l -~ = -| ZhuLis -~ = = = LS = -~ = -| Zhris -~ = = =
8 100kN/mM%E#BZ 5 -l -~ = —-|3mEBAE| - ~ = = —| 100kN/m%#BZ 5 = -~ = -|3m%EBZS ol ~ = = =
Zh s -l -~ = -| Zhuis -~ = = = LS = -~ = -| Zhris -~ = = =
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LSt ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LS ~ LSt ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Znst ~ Znst ~ ZhLlst ~ ZhLlst ~ |
BFR



